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Instructions:

—_—

1) All questions are compulsory. (Internal choice is PTOVidCd)
2) Figures to the right indicate the full marks

3) Non-programmable calculator is allowed B

5X4=20

Q Attempt the fnllm\'iug questions
a) Check if the lollowing pairs of statements are equivalent.

P=q.(p=q)(q-p)

b) Find the Principal, if the compound interest payable annually ! i e
for 2 years is Rs. 2.544.
c) How many 3 digit even numbers can be formed from the digits 3, 4,5,6, 78 if
the digits are not repeated?
. . th
d) Find the first term, common difference of an A.P whose 10" term is 5 and 18
term is 77.
e) Use Cramer’s rule to solve the following equations.
Ix+2y—-z=1
X=y+5z=-=2
2x+y=3
OR
QI Answer the following questions 5§X4=20
1) Check if the statement (p q)[~p v ~qlis a Tautology or a contradiction.

i) If Rs.3700 amounts to Rs. 6808 in 6 years, at simple interest, find the rate of
interest.

1ii) How many arrangements can be done in a line of 6 doctors, 4 engineers and 3
Professors if the three teachers are always together?

iv) Find the sum of all the even numbers between 2 to 200.

V) Use Cramer’s rule to solve the following equations.
X—-y+2z=-3
X+2y+3z=4
2x+y+z=-3
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(he folloWing questions. _ 5X4=20

Q2 Answer " o a TV from his friend and promised him to pay a fixed sum at the

a) Sanjay o ear., SO that after 2 years, his friend gets Rs.54,000. Assuming the
d Of(::ﬂc < at 16% compounded annually, calculate the fixed sum which

rate of i s pOSCd to pay his friend on yearly basis,

Sanjﬂy 18+
| 57,910} B={2,4,6,8,10},C={2,5,6,7,10} Verify that

A=A
b) If = (A uC)n (BUC)

(AnB)Y
d the 0" term and sum of first 6 terms of the sequence 80, 70, 60,..
c) Fin
: -2 4 5
ninant of the matrix M=[3 -1 g
d) Find the det¢™ 3 -1

arrangements can be made of the letters of the word “COMPANY”

e) I:ol\:’ 1“::)?3[ begins with M and ends with Y?
if the

OR

Jowing questions. 5X4=20

the fol ) :
Qn Answer t of an ordinary annuity of Rs. 5550 compounded annually for 6

i) Find the amounl
years at 6% Pef annum.
500 people, 240 liked product A. 280 liked product B. And each

” . of
)., - Inagies Jeast one of the two brands. Find the number of people who liked

person liked at
both the brands.

iij) ~ Find3 qumbers in A.P. whose sum is 24 and the sum of their squares is 242.
i 5 AT wef 2 5 T -1 6 4 , .
iv) IfA=[3 3],B [_3 _2 1],C [3 5 1] Verify tha

A(B+C) =AB+AC.

V) Computei) = i) 7!-4!

5X4=20

Q3  Answer the following questions.
doubles in 6 years, find the rate of

a)  Ifthe investment kept for simple interest
interest.

b)  Ifn(AUB)=60,n (ANB) =20, and n (A) =50, find n (B) and n (B-A).

) Checkthe validity of the following argument.

IfI_Wear ablue dress then India wins.
India lost,

Therefore, 1 i oy wear a blue dress.
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d)

¢)

QU

1)

1ii)

Q4
a)

b)

d)

Jor Find the
g ra?

From a pack of §2 pl;l\'inp
nuntber of selections if 1) ‘I

. cle

cards, 3 cards are to be SCI'(: ace: ts such

Wo are face cards i) On€ * gtalmenr first

NS> g pet 2

hly "o, 1 t

an from a friend in 14 mor Rﬂ-ljloo'aﬂ amOt

1an the earlier instalment nd the

alculate her last instalmen

Siya pays her intereg free 1o
that cach nstalment is less I
instalment was Rg. 2500 (

5X4=20

armuai
® nd 7%.

OR

Answer the followj . th
ng questions, 7%. If9°0
 at

Jenny has Rs. 8000 N t at
L T R - She lent a part of it at 9% the r€s
interest received by ey was | part of it at 9% en

e
- s : oney S
Both the interests 5.600, find the m

are simple interests, 70 liked ApPY, 40
~ : i i A

1}1 . M]f\.l"" of 175 people, it was found that 100 |iked , rultS);gce’ < hkei(:yvppy
liked §hcc. 30 liked Fruity and Appy, 20 liked Fruity and Jike only g
and Slice, 18 pPeople liked all the thre’e drinks. How man

Check the v

p
P—q
.’.q

alidity of the following argument.

- sociolo
In how many ways can 3 books in Mathematics, 4 books I : j

books in history be arranged on a shelf if the books of the
always together?
stalment by

. - > i .n
Ganesh invests Rs. 10000 in the first month and increases s ! nt at the end of

Rs.1000 in every subsequent month. Calculate his total invest™®
3 years.

Answer the following questions. 5X4720
Reema invested a certain amount for 4 years at 8% per anoum and got a simple
interest of Rs.2000. She then kept aside the interest and invested the same
amount at a compound interest of 12% per annum for another 4 years. If the
compound interest is to be calculated annually, Find the amount she receives at
the end of the second deal.

2 4 3
Find all the minors related to the matrix B=[ 3 6 0 ]
=1 =59

Ramesh is repaying his debts in 8 monthly instalment
Progression. If his third instalment is Rs.100 and the
12,500, Find his first instalment and the total amount
period of 8 months.

s.whi'ch form a Geometric
Sixth Instalment is Rs.

fepaid by him ip the entire

Sumit invested Rs. 4000 at 15% per annum for ¢ years tg
annually. What is the amount received by him op Maturiyy COmpounded
In how many ways can a football team of 1] player be ’

s
A Clecteq from 16 players
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OR

: tions.
Q‘l\ Answer the f asimple interest of 25%

i) \\qﬂ,al isnf:c lm‘ 4 half yearly for 2 years?
16% c0

5X4=20

for 3
Years or a Compound interest of

i) 2 =6]  Find D + 3A.
: = 2" Fj
iii) If the nh ter™ of aG.P isT, = 2", Find the firg term, common ratio and the 8™
term. ¢
iv) Praiakta vested Rs.10,000 in a fixed deposit scheme .
j : maturi -
6 years and 9 months- Cazl7c ulate the rate of interest if e com?)%):x?]cli{ ?ﬁtiooqo .
compounded quarterly- (V2 =1.026) Rp
V) A group consists of 4 girls and 7 boys. In how many v
megmbers be selected if the team has Y Ways can a team of 5

i) No girls
i)  Atleast 3 girls.
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